FDOT)	Florida Department of Transportation				
		Vendor Ranking			Page 1 of 1	
Letting:	04230203	February 03, 2023 10:30 AM Call Order: 007	Contract:	E4W30-R0		
District:	District 4	Counties: BROWARD	Fed Aid No	: N/A		
Contract Time:	365 CALEN	DAR DAYS	Project(s):	42833367201 (*	[*])	
Contract Desc:	BROWARD	NPDES CORRECTIVE ACTIONS - ROUTINE MAINTENANCE				

Ran	ık Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Winning bid	\$537,970.48	100.00%
2	ENVIRONMENTAL LAND DEVELOPMENT	Responsive	Non-Winning Bid	\$599,245.80	111.39%
3	MAER HOMES, LLC	Responsive	Non-Winning Bid	\$711,315.00	132.22%
4	SHENANDOAH GENERAL CONSTRUCTION, LLC	Responsive	Non-Winning Bid	\$1,105,361.25	205.47%
5	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$1,864,027.50	346.49%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED:	BEGIN DATE:	02/28/23	BEGIN TIME:	10:30 AM
	END DATE:	03/03/23	END TIME:	10:30 AM

NOTE: The award amount and contract performance bond shall be based on the maximum limiting budgeted amount of \$450,000.00 and not the contractors bid total.

FDUI	Florida Department of Transportation											
			Tabul	ation of Bids	s			Page 1 of 13				
Letting:	04230203	February 03, 20	23 Call Ord	ler: 007		Contract:	E4W30-R0					
District:	District 4		Countie	s: BROW	ARD	Fed Aid No:	: N/A					
Contract Time:	365 CALEND	AR DAYS				Project(s):	4283336720	01 (*)				
Contract Descr:	BROWARD N	IPDES CORREC	TIVE ACTIONS - RO	UTINE MAIN	ITENANCE							
The work within this Contract consists of providing the means and methods to resolve maintenance issues related to the States drainage system and to provide corrective actions for National Pollution Elimination Discharge Systems NPDES related inspection deficiencies to assets servicing the State Road System throughout Broward County.												
MAXIMUM LIMITING CONTRACT: The award amount and contract performance bond shall be based on maximum limiting budgeted amount of \$450,000.00 and not the contractors bid total.												
REQUIRED SUBMITTAL WITH BID: Drainage Experience Form 850-070-05 must be submitted with the bid.												
		0 1	hand is required for this	project								
PERFORMANCE	BOND: A Contra TY: The limits o general aggreg	act or Performance I of coverage shall not late, inclusive of am	bond is required for this t be less than \$1,000,00 iounts provided by an ui tions performed under th	00 for each oco mbrella or exc	ess policy. The lir	nits of coverage						
PERFORMANCE GENERAL LIABIL \$5,000,000 annua described herein s diminished by clair Pay all deductibles Retention or a Sell Line No / Item I	TY: The limits of general aggreg hall apply fully to as required by -Insured Retent D Alterna	act or Performance I of coverage shall not rate, inclusive of am o the work or operat the contract. The po the policy. No policy ion.	t be less than \$1,000,00 iounts provided by an ui tions performed under th olicy and coverage desc y or coverage described (1) ROGAR MANAGE	00 for each occ mbrella or exc he Contract an ribed herein m t herein may c EMENT &	ess policy. The lin ad may not be sha hay be subject to a contain or be subject (2) ENVIRONMI	nits of coverage ared with or a deductible. ect to a	(3) MAER F	HOMES, LLC				
PERFORMANCE GENERAL LIABIL \$5,000,000 annua described herein s diminished by clair Pay all deductibles Retention or a Sell	TY: The limits of general aggreg hall apply fully to as required by -Insured Retent D Alterna n	act or Performance I of coverage shall not late, inclusive of am o the work or operat the contract. The po the policy. No policy ion. ate Quantity Units	t be less than \$1,000,00 iounts provided by an un tions performed under th olicy and coverage described y or coverage described (1) ROGAR MANAGE CONSULTING OF F	00 for each occ mbrella or exc he Contract an ribed herein m t herein may c EMENT &	ess policy. The lir nd may not be sha nay be subject to a contain or be subje	nits of coverage ared with or a deductible. ect to a	(3) MAER I	HOMES, LLC				
PERFORMANCE GENERAL LIABIL \$5,000,000 annua described herein s diminished by clair Pay all deductibles Retention or a Self Line No / Item I Item Descriptio	TY: The limits of general aggreg hall apply fully to ns unrelated to as required by -Insured Retent D Alterna n s bid as Lump Sur	act or Performance I of coverage shall not rate, inclusive of am o the work or operat the contract. The po the policy. No policy ion. ate Quantity Units	t be less than \$1,000,00 iounts provided by an un tions performed under th olicy and coverage described y or coverage described (1) ROGAR MANAGE CONSULTING OF F	00 for each occ mbrella or exc he Contract ar ribed herein may c ement & LORIDA a Amount	ess policy. The lin ad may not be sha hay be subject to a contain or be subject (2) ENVIRONMI DEVELO	nits of coverage ared with or a deductible. ect to a						
PERFORMANCE GENERAL LIABIL \$5,000,000 annua described herein s diminished by clair Pay all deductibles Retention or a Self Line No / Item I Item Descriptio () indicates item is	BOND: A Contra TY: The limits of general aggreg hall apply fully to ns unrelated to a required by -Insured Retent D Alterna n s bid as Lump Sur I: 0001	act or Performance I of coverage shall not ate, inclusive of am o the work or operat the contract. The po the policy. No policy ion. ate Quantity Units n (CLEAN DRAIN, 50.000	t be less than \$1,000,00 iounts provided by an un tions performed under th blicy and coverage described y or coverage described (1) ROGAR MANAGE CONSULTING OF F Unit Price	00 for each occ mbrella or exc he Contract ar ribed herein may c ement & LORIDA a Amount	ess policy. The lin ad may not be sha hay be subject to a contain or be subject (2) ENVIRONMI DEVELO	nits of coverage ared with or a deductible. ect to a		Ext Amount				
PERFORMANCE GENERAL LIABIL \$5,000,000 annua described herein s diminished by clair Pay all deductibles Retention or a Self Line No / Item I Item Descriptio () indicates item is SECTION 0005 0110 4 10	BOND: A Contra TY: The limits of general aggreg hall apply fully to ns unrelated to a required by -Insured Retent D Alterna n s bid as Lump Sur I: 0001	act or Performance I of coverage shall not ate, inclusive of am o the work or operat the contract. The po the policy. No policy ion. ate Quantity Units n (CLEAN DRAIN, 50.000	t be less than \$1,000,00 iounts provided by an ui tions performed under the licy and coverage described (1) ROGAR MANAGE CONSULTING OF F Unit Price LLC Ext AGE STRUCTURES (L	00 for each occ mbrella or exci he Contract an ribed herein m d herein may c EMENT & LORIDA	ess policy. The lir d may not be sha nay be subject to a contain or be subject (2) ENVIRONMI DEVELOI Unit Price	nits of coverage ared with or a deductible. exct to a ENTAL LAND PMENT Ext Amount	Unit Price	Ext Amount				
PERFORMANCE I GENERAL LIABIL \$5,000,000 annua described herein s diminished by clair Pay all deductibles Retention or a Self Line No / Item I Item Descriptio () indicates item is SECTION 0005 0110 4 10 REMOVAL OF EXIS	TY: The limits of general aggreg hall apply fully to ns unrelated to it as required by -Insured Retent D Alterna n s bid as Lump Sur I: 0001 STING CONCRI	act or Performance I of coverage shall not ate, inclusive of am o the work or operat the contract. The po the policy. No policy ion. ate Quantity Units n (CLEAN DRAIN. 50.000 ETE SY	t be less than \$1,000,00 iounts provided by an ui tions performed under the licy and coverage described (1) ROGAR MANAGE CONSULTING OF F Unit Price LLC AGE STRUCTURES (L 101,00000	00 for each occ mbrella or exci- he Contract an ribed herein m d herein may c EMENT & LORIDA Amount F 5,050.00	ess policy. The lir d may not be sha hay be subject to i contain or be subject (2) ENVIRONMI DEVELOI Unit Price 65,00000	nits of coverage ared with or a deductible. a deductible. sect to a ENTAL LAND PMENT Ext Amount 3,250.00	Unit Price 15.00000	Ext Amount				



Tabulation of Bids

02/03/2023

Page 2 of 13

Letting	j: 04230203 Feb	ruary 03, 2	023 Cal	Order: 007		Contract:	E4W30-R0	
	No / Item ID Alternate Description	Quantity Units	(1) ROGAR MA CONSULTING	OF FLORIDA	(2) ENVIRONM DEVELC		(3) MAER H	IOMES, LLC
() ind	icates item is bid as Lump Sum		Unit Price	C Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001 (CL	EAN DRAIN	NAGE STRUCTUR	ES (LF				
0020 EMBANI	0120 6 <ment< td=""><td>50.000 CY</td><td>41.11000</td><td>2,055.50</td><td>35.00000</td><td>1,750.00</td><td>55.00000</td><td>2,750.00</td></ment<>	50.000 CY	41.11000	2,055.50	35.00000	1,750.00	55.00000	2,750.00
	0120 10 21 AND RESHAPE DITCH, HAUL, VIDTH UP TO 15'	50.000 LF	7.11000	355.50	10.00000	500.00	100.00000	5,000.00
	0120 10 22 AND RESHAPE DITCH, HAUL, VIDTH 15-30'	50.000 LF	7.11000	355.50	11.50000	575.00	130.00000	6,500.00
0035 Flowae	0121 70 BLE FILL	25.000 CY	268.00000	6,700.00	325.00000	8,125.00	300.00000	7,500.00
0040 SUBSUF SAND C	0173 77 1 RFACE PRESSURE GROUTING, EMENT	25.000 CY	91.11000	2,277.75	300.00000	7,500.00	420.00000	10,500.00
0045 MISCEL	0339 1 LANEOUS ASPHALT PAVEMEN	10.000 T TN	266.11000	2,661.10	450.00000	4,500.00	350.00000	3,500.00
0050 CONCRI WALLS	0400 2 11 ETE CLASS II, RETAINING	3.000 CY	561.00000	1,683.00	1,350.00000	4,050.00	2,500.00000	7,500.00
0055 INLETS,	0425 4 ADJUST	7.000 EA	1,960.00000	13,720.00	1,350.00000	9,450.00	650.00000	4,550.00
0060 MANHO	0425 5 LE, ADJUST	23.000 EA	300.00000	6,900.00	1,350.00000	31,050.00	850.00000	19,550.00



Tabulation of Bids

02/03/2023

Page 3 of 13

Letting:	04230203	February 03, 2	023 Cal	l Order: 007		Contract:	E4W30-R0	
Line No / Iter Item Descrip		te Quantity Units	(1) ROGAR MA CONSULTING	OF FLORIDA	(2) ENVIRONN DEVELC		(3) MAER H	IOMES, LLC
•	n is bid as Lump Sur		Unit Price	C Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	ON: 0001	(CLEAN DRAI	NAGE STRUCTUR	ES (LF				
0065 0425 82 REPLACE GRAT		2.000 EA	861.00000	1,722.00	750.00000	1,500.00	550.00000	1,100.00
0070 043017 PIPE CULVERT, MATERIAL,ROU	OPTIONAL	50.000 LF	228.00000	11,400.00	125.00000	6,250.00	140.00000	7,000.00
0075 043017 PIPE CULVERT, MATERIAL,ROU	OPTIONAL	50.000 LF	248.00000	12,400.00	145.00000	7,250.00	160.00000	8,000.00
0080 043017 PIPE CULVERT, ROUND, 30"S/C	OPT MATERIAL,	50.000 LF	295.00000	14,750.00	159.00000	7,950.00	200.00000	10,000.00
0085 043098 MITERED END S ROUND, 18" SD	4125 ECTION, OPTION	1.000 AL EA	1,500.00000	1,500.00	1,500.00000	1,500.00	1,200.00000	1,200.00
0090 043098 MITERED END \$ ROUND, 24" SD	4129 ECTION, OPTION	1.000 AL EA	1,900.00000	1,900.00	2,250.00000	2,250.00	1,350.00000	1,350.00
0095 043098 MITERED END S ROUND, 30" SD	4133 ECTION , OPTION	1.000 NAL EA	2,600.00000	2,600.00	5,000.00000	5,000.00	1,400.00000	1,400.00
0100 0520 1 CONCRETE CU	10 RB & GUTTER, TY	50.000 PE F LF	38.00000	1,900.00	55.00000	2,750.00	75.00000	3,750.00
0105 0520 2 CONCRETE CU		50.000 LF	48.00000	2,400.00	55.00000	2,750.00	65.00000	3,250.00



Tabulation of Bids

02/03/2023

Page 4 of 13

Lettin	g: 042	230203	February 03, 20	023 Cal	I Order: 007		Contract:	E4W30-R0	
	No / Item ID	Alternate	e Quantity Units	(1) ROGAR MAI CONSULTING	OF FLORIDA	(2) ENVIRONM DEVELO		(3) MAER H	IOMES, LLC
() in	dicates item is bid	as Lump Sum		Unit Price	C Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(CLEAN DRAIN	IAGE STRUCTUR	ES (LF				
	0522 1 RETE SIDEWALF WAYS, 4" THICK		50.000 SY	148.00000	7,400.00	90.00000	4,500.00	85.00000	4,250.00
	0522_2 RETE SIDEWALF WAYS, 6" THICK		100.000 SY	41.11000	4,111.00	110.00000	11,000.00	90.00000	9,000.00
CRACK	0524 4 1 ING & SEALING (S IN EXISTING PAVEMENT		46.000 LF	100.00000	4,600.00	50.00000	2,300.00	30.00000	1,380.00
0125 RIPRAF	0530 1100 P, SAND-CEMEN	IT BAGS	50.000 CY	661.00000	33,050.00	699.00000	34,950.00	800.00000	40,000.00
0130 MOBILI RESPC	E101 72 ZATION (EMER) NSE)	GENCY	8.000 EA	0.01000	0.08	3,500.00000	28,000.00	1,500.00000	12,000.00
0135 CLEAR	E110 2 ING & GRUBBIN	IG	3.500 AC	4,400.00000	15,400.00	4,950.00000	17,325.00	4,200.00000	14,700.00
0140 LITTER	E110 30 REMOVAL		5.000 AC	10.00000	50.00	250.00000	1,250.00	200.00000	1,000.00
0145 CLEAN	E120 10 2 AND RESHAPE	DITCH (HA	20,000.000 UL) LF	4.61000	92,200.00	5.99000	119,800.00	7.50000	150,000.00



Tabulation of Bids

02/03/2023

Page 5 of 13

Letting	g: 04	4230203 F	ebruary 03, 2	023 Ca	II Order: 007		Contract:	E4W30-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) ROGAR MA CONSULTING	OF FLORIDA	(2) ENVIRONM DEVELO		(3) MAER H	IOMES, LLC
() ind	dicates item is bi	d as Lump Sum		Unit Price	.C Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(CLEAN DRAIN	AGE STRUCTUR	ES (LF				
	E425 73 1 ING MANHOLE ANICAL)	ES AND INLETS	180.000 EA	21.00000	3,780.00	150.00000	27,000.00	75.00000	13,500.00
0155 REPAIR INLETS		ANHOLES AND	6.000 EA	501.00000	3,006.00	600.00000	3,600.00	225.00000	1,350.00
0160 RESET	E425 73 4 EXISTING FR	AME AND GRA ⁻	10.000 TE EA	200.00000	2,000.00	500.00000	5,000.00	85.00000	850.00
0165 CLEAN (MANU/		ES AND INLETS	250.000 EA	281.00000	70,250.00	75.00000	18,750.00	80.00000	20,000.00
0170 SECUR	E425 73 6 E MANHOLE /	INLET LIDS	6.000 EA	1,500.00000	9,000.00	1,250.00000	7,500.00	100.00000	600.00
0175 DESILT	E430 94 1 PIPE, 0 to 24"		15,000.000 LF	3.00000	45,000.00	4.50000	67,500.00	7.00000	105,000.00
0180 DESILT	E430 94 2 PIPE, 25-36"		5,000.000 LF	4.00000	20,000.00	6.50000	32,500.00	7.00000	35,000.00
0185 DESILT	E430 94 3 PIPE, 37-48"		5,000.000 LF	6.00000	30,000.00	9.50000	47,500.00	12.00000	60,000.00
0190 STORM CAMER		PECTION (VIDE	485.000 D LF	14.61000	7,085.85	10.00000	4,850.00	15.00000	7,275.00



Tabulation of Bids

02/03/2023

Page 6 of 13

Lettin	g: 042302	203 February 03, 2	023 Ca	Il Order: 007		Contract:	E4W30-R0	
	e No / Item ID Description	Alternate Quantity Units	(1) ROGAR MA CONSULTING	OF FLORIDA	(2) ENVIRONM DEVELC		(3) MAER H	IOMES, LLC
() in	dicates item is bid as L	ump Sum	Unit Price	.C Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 000	1 (CLEAN DRAII	NAGE STRUCTUR	ES (LF				
0195 CONCF	E524 1 1 RETE DITCH PAVEN	115.000 IENT REPAIR CY	289.11000	33,247.65	90.00000	10,350.00	300.00000	34,500.00
SLURR	E573 1 D-SEEDING - APPLIC Y INCLUDING WOO FERTILIZER, TACKI	DD FIBER,	0.91000	22,299.55	0.16000	3,920.80	2.00000	49,010.00
0205 SODDI	E575 1 4 NG, ST AUGUSTINE	2,000.000 SY	6.11000	12,220.00	4.50000	9,000.00	8.00000	16,000.00
0210 SODDI	E575 1 8 NG, BAHIA	2,000.000 SY	6.11000	12,220.00	5.00000	10,000.00	4.00000	8,000.00
0215 SHOUL	E577 70 DER REWORK	7,000.000 SY	2.11000	14,770.00	2.50000	17,500.00	2.50000	17,500.00
	0001 CLEAN DRA	NAGE Section Totals: S (LF)	1	\$537,970.48		\$599,245.80		\$711,315.00

Contract Grand Totals:	\$537,970.48	\$599,245.80	711,315.00
------------------------	--------------	--------------	------------



02/03/2023

Tabulation of Bids

Page 7 of 13

Letting: 04230203 Febr	uary 03, 20	023 Cal	l Order: 007		Contract:	E4W30-R0	
Line No / Item ID Alternate (Item Description	Quantity Units	(4) SHENANDO CONSTRUC		(5) MIDW CONSTRUC			
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (CLE			ES (LF				
0005 0110 4 10 REMOVAL OF EXISTING CONCRETE	50.000 SY	150.00000	7,500.00	100.00000	5,000.00		
0010 0120 1 REGULAR EXCAVATION	140.000 CY	105.00000	14,700.00	100.00000	14,000.00		
0015 0120 4 SUBSOIL EXCAVATION	10.000 CY	75.00000	750.00	100.00000	1,000.00		
0020 0120 6 EMBANKMENT	50.000 CY	25.00000	1,250.00	100.00000	5,000.00		
0025 0120 10 21 CLEAN AND RESHAPE DITCH, HAUL, DITCH WIDTH UP TO 15'	50.000 LF	25.00000	1,250.00	15.00000	750.00		
0030 0120 10 22 CLEAN AND RESHAPE DITCH, HAUL, DITCH WIDTH 15-30'	50.000 LF	35.00000	1,750.00	20.00000	1,000.00		
0035 0121 70 FLOWABLE FILL	25.000 CY	300.00000	7,500.00	800.00000	20,000.00		
0040 0173 77 1 SUBSURFACE PRESSURE GROUTING, SAND CEMENT	25.000 CY	700.00000	17,500.00	800.00000	20,000.00		
0045 0339 1 MISCELLANEOUS ASPHALT PAVEMENT	10.000 TN	550.00000	5,500.00	900.00000	9,000.00		



02/03/2023

Tabulation of Bids

Page 8 of 13

Letting:	04230203	February 03, 2	023 Cal	l Order: 007		Contract:	E4W30-R0	
Line No / Item Desc		te Quantity Units	(4) SHENANDO CONSTRUC		(5) MIDW CONSTRUC			
() indicates	item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SE	CTION: 0001	(CLEAN DRAIN	AGE STRUCTUR	ES (LF				
) 2 11 CLASS II, RETAINING	3.000 CY	1,400.00000	4,200.00	4,250.00000	12,750.00		
0055 0425 INLETS, ADJ		7.000 EA	4,000.00000	28,000.00	3,250.00000	22,750.00		
0060 0425 MANHOLE, A		23.000 EA	2,200.00000	50,600.00	2,750.00000	63,250.00		
0065 0425 REPLACE GF		2.000 EA	1,800.00000	3,600.00	2,950.00000	5,900.00		
PIPE CULVEI)175118 RT,OPTIONAL OUND, 18"S/CD	50.000 LF	275.00000	13,750.00	65.00000	3,250.00		
PIPE CULVE)175124 RT,OPTIONAL OUND, 24"S/CD	50.000 LF	300.00000	15,000.00	85.00000	4,250.00		
	0175130 RT, OPT MATERIAL, S/CD	50.000 LF	375.00000	18,750.00	100.00000	5,000.00		
	0984125 D SECTION, OPTION, SD	1.000 AL EA	4,500.00000	4,500.00	3,500.00000	3,500.00		
	0984129 D SECTION, OPTION, SD	1.000 AL EA	4,700.00000	4,700.00	4,000.00000	4,000.00		



02/03/2023

Tabulation of Bids

Page 9 of 13

Letting:	04230203 Fe	bruary 03, 2	023 Cal	l Order: 007		Contract:	E4W30-R0	
Line No / Item IE Item Descriptior		Quantity Units	(4) SHENANDO CONSTRUC		(5) MIDW CONSTRUC			
() indicates item is	bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION								
0095 043098413 MITERED END SEC ROUND, 30" SD		1.000 EA	5,500.00000	5,500.00	4,500.00000	4,500.00		
0100 0520 1 10 CONCRETE CURB	& GUTTER, TYPE I	50.000 - LF	75.00000	3,750.00	150.00000	7,500.00		
0105 0520 2 4 CONCRETE CURB,	TYPE D	50.000 LF	95.00000	4,750.00	150.00000	7,500.00		
0110 0522 1 CONCRETE SIDEW DRIVEWAYS, 4" TH		50.000 SY	125.00000	6,250.00	125.00000	6,250.00		
0115 0522 2 CONCRETE SIDEW DRIVEWAYS, 6" TH	=	100.000 SY	155.00000	15,500.00	150 <u>.</u> 00000	15,000.00		
0120 0524 4 1 CLEANING & SEAL CRACKS IN EXISTII SLOPE PAVEMENT		46.000 LF	40.00000	1,840.00	50.00000	2,300.00		
0125 0530 1100 RIPRAP, SAND-CEM		50.000 CY	975.00000	48,750.00	1,250.00000	62,500.00		
0130 E101 72 MOBILIZATION (EM RESPONSE)	ERGENCY	8.000 EA	300.00000	2,400.00	500.00000	4,000.00		



02/03/2023

Tabulation of Bids

Page 10 of 13

Letting: 04230203 F	ebruary 03, 2	023 Cal	l Order: 007		Contract:	E4W30-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(4) SHENANDO CONSTRUC		(5) MIDW CONSTRUC			
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(CLEAN DRAIN	NAGE STRUCTUR	ES (LF				
0135 E110 2 CLEARING & GRUBBING	3.500 AC	6,000.00000	21,000.00	2,500.00000	8,750.00		
0140 E110 30 LITTER REMOVAL	5.000 AC	70.00000	350.00	200.00000	1,000.00		
0145 E120 10 2 CLEAN AND RESHAPE DITCH (HAU	20,000.000 JL) LF	19.00000	380,000.00	5.00000	100,000.00		
0150 E425 73 1 CLEANING MANHOLES AND INLETS (MECHANICAL)	180.000 S EA	250.00000	45,000.00	1,250.00000	225,000.00		
0155 E425 73 2 REPAIR LEAKS IN MANHOLES AND INLETS	6.000 EA	570.00000	3,420.00	3,000.00000	18,000.00		
0160 E425 73 4 RESET EXISTING FRAME AND GRA	10.000 TE EA	150.00000	1,500.00	3,750.00000	37,500.00		
0165 E425 73 5 CLEANING MANHOLES AND INLETS (MANUAL)	250.000 6 EA	20.00000	5,000.00	2,000.00000	500,000.00		
0170 E425 73 6 SECURE MANHOLE / INLET LIDS	6.000 EA	450.00000	2,700.00	2,500.00000	15,000.00		
0175 E430 94 1 DESILT PIPE, 0 to 24"	15,000.000 LF	3.50000	52,500.00	10.00000	150,000.00		



02/03/2023

Tabulation of Bids

Page 11 of 13

Lettin	g : 042	230203 Fe	bruary 03, 20	023 Cal	l Order: 007		Contract:	E4W30-R0	
	No / Item ID	Alternate	Quantity Units	(4) SHENANDO CONSTRUC	AH GENERAL	(5) MIDW CONSTRUC			
() in	dicates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 (C	CLEAN DRAIN	IAGE STRUCTUR	ES (LF				
0180 DESILT	E430 94 2 ⁻ PIPE, 25-36"		5,000.000 LF	5.00000	25,000.00	25.00000	125,000.00		
0185 DESILT	E430 94 3 ⁻ PIPE, 37-48"		5,000.000 LF	12.00000	60,000.00	32.00000	160,000.00		
0190 STORM CAMEF	E432 4 1 SEWER INSPE RA)	ECTION (VIDEO	485.000 LF	2.75000	1,333.75	12.00000	5,820.00		
0195 CONCF	E524 1 1 RETE DITCH PA	VEMENT REPA	115.000 IR CY	550.00000	63,250.00	950.00000	109,250.00		
SLURR	E573 1 D-SEEDING - AP Y INCLUDING V FERTILIZER, TA	VOOD FIBER,	24,505.000 SY	3.50000	85,767.50	1.50000	36,757.50		
0205 SODDII	E575 1 4 NG, ST AUGUST	TINE	2,000.000 SY	11.00000	22,000.00	12.00000	24,000.00		
0210 SODDII	E575 1 8 NG, BAHIA		2,000.000 SY	13.00000	26,000.00	5.00000	10,000.00		
0215 SHOUL	E577 70 DER REWORK		7,000.000 SY	3.00000	21,000.00	4.00000	28,000.00		

FDOT		Florida De	epartment of Tra	02/03/2023			
			Tabulation of Bi		Page 12 of 13		
Letting: 04230203 F	ebruary 03, 20	023 C a	all Order: 007		Contract:	E4W30-R0	
Line No / Item ID Alternate Item Description	Quantity Units		OAH GENERAL	(5) MIDW CONSTRUC	ESTERN CTION, INC		
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(CLEAN DRAIN	IAGE STRUCTU	RES (LF				
0001 CLEAN DRAINAGE Se STRUCTURES (LF)	ction Totals:		\$1,105,361.25		\$1,864,027 <u>.</u> 50		
Contract Gra	and Totals:		\$1,105,361.25		\$1,864,027.50		
	I				I		

FDOT		Flo	02/03/2023				
			Tabulatio	n of Bids			Page 13 of 13
Letting:	04230203	February 03, 2023	Call Order:	007	Contract:	E4W30-R0	
		NOTE: Failure	to file a protest wi	thin the time prescribe	d in section		

120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.